6.3 Trig Ratios Part I

PC 12 Trigonometric Ratios (continued)

In which quadrant(s) does the terminal arm of 6 possibly lie? .
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The point (3, —5) lies on the terminal arm of 6. Sketch two coterminal angles in standard position whose
terminal arm contains the point. Provide one positive and one negative angle, in radians.
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The point (x, g) lies on the terminal arm of an angle 6 in standard position and on the unit circle. If the point lies
in quadrant II, determine the value of x and state the six trigonometric ratios. r=1
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Determine the exact value of each expression.
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Determine the exact measure of all angles such that sec8 = 2 in the domain —27 < 6 < 2m.
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